

PROPIEDAD CONMUTATIVA

RESUELVE LAS SUMAS Y ESCRIBE EL RESULTADO

$$\boxed{4} + \boxed{3} = \boxed{} + \boxed{}$$
$$\boxed{}$$



$$\boxed{5} + \boxed{4} = \boxed{} + \boxed{}$$
$$\boxed{}$$



$$\boxed{8} + \boxed{2} = \boxed{} + \boxed{}$$
$$\boxed{}$$



$$\boxed{6} + \boxed{3} = \boxed{} + \boxed{}$$
$$\boxed{}$$



$$\boxed{9} + \boxed{3} = \boxed{} + \boxed{}$$
$$\boxed{}$$



$$\boxed{6} + \boxed{5} = \boxed{} + \boxed{}$$

$$\boxed{}$$



$$\boxed{7} + \boxed{3} = \boxed{} + \boxed{}$$

$$\boxed{}$$



$$\boxed{10} + \boxed{5} = \boxed{} + \boxed{}$$

$$\boxed{}$$



$$\boxed{12} + \boxed{2} = \boxed{} + \boxed{}$$

$$\boxed{}$$



$$\boxed{13} + \boxed{3} = \boxed{} + \boxed{}$$

$$\boxed{}$$

